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2 0Ooo

2.1 0JO0O0O0O4Qdd
e accdisk.fOOOODOOOOODODO

at.job 0O ODOODOOODOODOOOOODOOO

parah 000000000 0ODOOOOODOOOOOOODOO
diskOOOODOOOO0OO0OOO0O0O00OO0O0OO

cloutU000OO00O0O0ODOOOOOO0O0D0O0

22 0000004

geccD 3000000000000 0DO0DO0ODO0OOOODOODO0ODOD0ODOOgec4 00 geecbODOOO
OO000000OUbuntu J000O0OgecD 30000000000 00O00OD0O00DO0OO0LINxOOOOO
CentOSO 6.7,680000000000000O0O0gec30000000000D00OO

OO0Ofortran 000000000000

> yum search fortran

============================= [ /S Matched: fortran =============================

compat -libgfortran-41.i686 : Compatibility Fortran 95 runtime library version
: 4.1.2
compat -libgfortran-41.x86_64 : Compatibility Fortran 95 runtime library version
: 4.1.2

compat -gcc-34-g77.x86_64 : Fortran 77 support for compatibility compiler

O0O00Ogec-34 0000000 OODOOOOOODOOOOODOO

> sudo yum install compat-gcc-34-g77.x86_64

goboobooboobgoobooobobboo

> £77 -v

Reading specs from /usr/lib/gcc/x86_64-redhat-1linux/3.4.6/specs
Configured with: ../configure --prefix=/usr --mandir=/usr/share/man
--infodir=/usr/share/info --enable-shared --enable-threads=posix
--disable-checking --with-system-zlib --enable-__cxa_atexit
--disable-libunwind-exceptions --enable-languages=c,c++,f77
--disable-1libgcj --host=x86_64-redhat-linux

Thread model: posix

gcc version 3.4.6 20060404 (Red Hat 3.4.6-19.el16)

OO000000000D000 geeversion3.4.6 000000000
ooooooooo

> f77 -o accdisk accdisk.f

Ooooofrr0000000DOO0oO0OooooOg
O00Ogfortran 00O O0O0OD0OOOO




> gfortran -o accdisk accdisk.f
accdisk.f:58.72:

pause

Warning: Deleted feature: PAUSE statement at (1)
accdisk.f:69.72:

pause
1

OO00O0O0O0O0O0O0O00D0D0D00O0O0O000000O0DODODO segmentation fault 000000000
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ooooboooogoon
quick 00O00O0O0O0OO0OO0OOIMORE=00000000000C0CO000O0OCO00O0O0DOOOOODO
OO0000000Ognuplot D u250000 vsOOOOOOODOOOOODOOO

23.2 0000

KI=10000OOOOOOOOOADAFOOOOOROUT20 500 1000000000000000O
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3 Uooood

3.1 JO0oOgogg
3.1.1 SUBROUTINE cnvrbs
O000O0OxkfOOODOOtauff OO OOCOOOOOO

grep -n tau ./accdisk.f | grep write
1552: write(6,*) "taul, tauff, taues, xkff", tau, tauff, taues, =xkff
1600: write(6,*) "tau3, tauff, taues, xkff", tau, tauff, taues, =xkff

gboobooobooobgooaboad

LIN = 1.83693930435181E+00 R = 2.6912097E+00 ic = 0

taul, tauff, taues, xkff 23.9289483 8.89031566E-311 23.9289483 1.26320111E-312
J, R, taup, te 1 2.7012097 197.164335 794624.689

tau3, tauff, taues, xkff 129.613409 105.684461 23.9289483 1.50164214

J, R, taup, te 1 2.7012097 197.164335 794624.689

taul, tauff, taues, xkff 136.4634 111.269821 25.1935788 1.50164214
J, R, taup, te 2 2.7112097 199.16652 811724.998

tau3, tauff, taues, xkff 131.951256 106.757677 25.1935788 1.44074848
J, R, taup, te 2 2.7112097 199.16652 811724.998

000000000 00Oxkf =8.89031566L-311 0 0000000000000 0O00O0O0OO00O0OOO
oo0oo0o0oooO00ooOOo0ooO0ooOoooo0o0DOooooOo xkftOooODoOooooOooooooDood
oooooo0ooooo0oooooooo0oooooo xkftogooooooooooooooooo




3.2 DUOOOoOobooOoOdg

3.3 00
O000000000000000000 para.h 0000000 parameter (jmax=500) 000000000

parameter (jmax=500)

common /BMESH/ RIN2,ROUT1,ROUT2,X0(jmax),X1(jmax),Y0(2, jmax),JX
common /BPHYO/ W1(jmax ,4),W0(jmax,4),U0(jmax ,4)

common /optic/ tauabso(jmax),tauo(jmax)

common /shoki/ deini(jmax),vxini(jmax),vpini(jmax),teini(jmax)
common /cauti/ krs(jmax),kes(jmax)

common /coula/ nlmax,nl(jmax)

common /energ/ esl(jmax)

common /fluxr0O/ drepsi(jmax),dgepsi(jmax),repsi(jmax),gepsi(jmax)
common /fluxl/ tepsi(jmax),dtepsi(jmax)

Ooo0ooDbooDoOoOOCOOOmexO00ODODDODOOCOOCODOOOOODDODODOOOOODOOOOOAt.job
OO0 MESHOOOOOOOOOOODOOOOO 20000000000
fortran 000 0000000000O0O0O00000C00OO

write (*,*) xO

ooooboooooobooon
obooooboobooooxoOooobOOooOoon

end steady to test. x0 =
2000. 1935.0031 1872.11849 1811.27754 1752.41383 1695.46309 1640.36317
1587.0539 1535.47711 1485.57648 1437.29755 1390.5876 1345.39566
1301.67238 1259.37005 1218.44247 1178.84498 1140.53434 1103.46874
2.8012097 2.7912097 2.7812097 2.7712097 2.7612097 2.7512097 2.7412097
2.7312097 2.7212097 2.7112097 2.7012097 2.6912097 0. 0. ©O0. O0. 0. O.
0. 0. ©o0. 0. 0. ©O0. ©O0. O0. 0. ©O0. ©O0. 0. 0. ©O0. O0. 0. 0. O0. oO.

. 0. o0. 0. 0. 0. 0. ©O0. 0. O0. 0. O0. O0. 0. 0. O.

oboOooouobtorbobbOO00obOo0oobooobOooobooooooboosononoboonooon200
O (=MESHO)OOOO0OOOOO0OOOO

3.3.1 tauff 0 taup OO0

ratio = TAUFF/taup
print x,"SADMN : TAUES=",TAUES," TAUFF=", TAUFF, " taup=", taup
print *,"SADMN : ratio=", ratio

gbooooOoboooooobooon

SADMN : TAUES= 5.09422324E-09 TAUFF= ©5.97688026E-67 taup= 1.11504341E-66
SADMN : ratio= 0.536022202
SADMN : TAUES= 7.71452468E-06 TAUFF= 7.20877975E-48 taup= 1.34486589E-47
SADMN : ratio= 0.536022202
SADMN : TAUES= 0.00187276193 TAUFF= 1.47537411E-33 taup= 2.75244962E-33
SADMN : ratio= 0.536022202

gboogboosdeo22202 00000000000 0O00OO0DO0O0OLOOOOOO0ObOOObOO0nag
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fortran 00000000000 O0OCCOODOOO0O0DCOODOO0O0O0O0O0CODOgrepddOOODiO0O
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grep -i xkff ./accdisk.f
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00000 (r,¢,2) 0000

00000000 : 8/8t =0

000000000 : 8/8¢ =0
00000000000H<r: (rz) 200 = (1+1)000
000000000 (000 =00)00

000000000 : 73> 1

000000000
0000000000000000000000000000000000000

F [erg/em s = /(ac/3/ip)(dT4/dz)dx ~ 40T /31

gboooobgooog

e 000000 a=7n2k*/15¢3h° = 7.57 x 10717 erg/ cm™3 K4,
e 1000000000000 o0=u0ac/4=567x10"°ergem 2 K 457!
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e JOUOOOO 100 (p,%,H,vp,¢s,9, P, T,7,1)

e 100ODOODO 100
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e 0 a: P~ Py, K~ Kes, T < Tap

e OO b: P~ Pygs, b~ KesyTap < T < Tpe

e 00 c: P~ Pyus, K~ Kabsy T > The

gboooboooboooooboo

R = r/rs

m = M/Mar

m = M/(Lg/c®)

fo= 1=3Brr
ray ~  180%/21m?/21yn16/21 £16/21,.

The ~  2500m3/3 23,

DO

=~

~ o~~~ —~
(=2}

ot
—_ D D D D O

3



Table 1: « OO0O0D00OO0O00DOO

1. p=%/2H

2. M = —2TrU. %

3. H=1c¢s/2
4. Q=+/GM/r3

5 8= (1 /)

6. 27° (= F) = 250>

0000 (0oOoo)

0000 (0ooo)

00000 ((0000=00000)
000000 (0000000000)
0ooooo

oooobooog

3T

7.c2="P/p 00

&P:@%+RM=%%+%ﬂ: 0oooo0

9. 7= (Kabs + Kes)pH = (kopT 3% + kes)pH 00000

10. v = %acsH o 00

Table 2: « J0ODO0DOO0DO0O0 (OO a)

oo oo
H =55 x 10*mmf cm
¥ =1.0 x 102a~ Y ' R3/2 1 g cm 2
|v,| = 7.6 x 10%am?R5/2 f cm s~
T =4.9x107a~"Y4m~1/AR=3/8 K
T = 8.4 x 1073a717/16m71/16m72R93/32f72

Table 3: « O0O00OOO0OODOO0O (OO b)

go

g

H = 2.7 x 1030~ 1/10,9/1005,1/5 p21/20 ¢1/5 oy
Y = 4.3 x 10%a~4/>m!/5m3/5 R=3/5 §3/5 ¢ cm—2
lup| = 1.7 x 1060/ 5m=1/5,2/5 R=2/5 f=3/5  ¢m g1
T =22 x 103~ Y/5m=1/5m2/5 R-9/102/5 K

7 = 2.4 x 101 a~4/3m1/551/10 R3/20 £1/10 _




Table 4: « 00000000000 (OO ¢

oo

oo

H = 1.5 x 103~ 1/10p9/10,5,3/20 R9/8 3/20
Y = 1.4 x 105a~4/3m!/5; /10 g=3/4 §7/10
|v,| = 5.4 x 10°a*/5m=1/59p3/10 g=1/4 =7/10
T = 6.9 x 107a~1/5m=1/5;3/10 g=3/4 §3/10

T = 7.9 x 10ta=4/5m /51 /5 f1/5
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00000 (r,¢,2) 0000

00000000 : 8/8t =0

000000000 : 8/8¢ =0
0000000000000000H<r: (r2)200 = (1+1)000
0000000000 (000 <00)00

000000000 :7<1
00000000000000000,0000000000000
00000000000000000000000000

googooo

e J0DDOUODO 100 (p, X, H,vp, ¢, P, T, T,V)

e OODOOO 100

e 0000000M,M,a,l;, 0000(000000000000000 rgiee 0 pO000)

ooooL, 0000000000000 0000o0oooooooboobOobo0o0oooooooobDbooon
00o000000o0o0o0o0o (4000000000 (6)OD0D00U0D0D0L00DDO0oDOoUDUD
ubobubooobobobobobobooobobobobobouoooboobobobooboonoo
oooooobo 000000000000

Table 5: ADAFOOQOOOOOOO

1. p=Y%/2H 0000 (00Ooo)

2. M = =270, 2 = Minput(7/Tdisk)? 0000 (0OoDoO)

3. H=c,/Q 00000 (:0000=00000)
40, G = 148 40 (02 — GM/r?) 0oooooo

5.vn =3 (1-, [l 000000

6. Lo, 27D — 9,502 _ F(p,T) 0000000

7.c2=P/p 00

8MP:&%:Zi ooooo

9. T = (Kabs + kes)pH = (kopT ™3 + kes)pH 00000

10. v = %acsH a 00

O0OO0OF(p,7)OO0DO0O0ODOOOODOOOO
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5.1 000

START

I O—NIVEBDRE
include ‘para.h’

Kl =0?
ERE?
YES

EHROHE
call intmdl

xlin = 0.5%(xlinp+xlinm)
r = routl

kr==17
RAEREMR?

NO call cnvrbs
TRANSFORMATION FROM
(Y0:ETA,DL) TO

(W0 :DE, VR, DL, TE)

i=0
REREMBOHE ADAFDEE - 541
call sadmk(r,eta,dl) call sadmn(r,eta,dl) 3 = jx-j+1
r = x0(3j)
‘ | YES !
FTEIC L B HIERES
call intgrt(r,eta,dl,ic)

NO j = j+1
i3 = 33-3+1
> r = x0(3j)
eta = y0(1,3j)
YES YES dl, x1, fhOH

]

xlinm = xlin xlinp = xlin NO

kr == 1 or r == rout1

te = ondo(de,pr, taup, tau)

il=il+1
te = pr/de/rmu

w0, u0, tau fDFE

Figure 1: 0000000000 ODOOOOO
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